SRO3 am

@ CE compliance M@ Origin on the non-motor side is selectable

8 Ordering

SR03-S £

P

SR03-

- T S2

S: Straight model N: With no brake|

R:Space-saving model Nete ' | |B: With brake

(motor installed on right)
L: Space-saving model Noe !

(motor installed on left)
U: Space-saving model| Note !

(motor installed on top)

Note 1. See P.153 for grease gun nozzles.
Note 2. If changing from the origin position at the time of

reset. For details, refer to the manual.

H H H ICC: CC-Link IN: N
H Basic specifications H Speed vs. payload BN DevicoNer™ {Incremental)

Motor 42 [] Step motor
Resolution (Pulse/rotation) 20480
Repeatability (mm) +/-0.02
Deceleration mechani Ball screw ¢8
Ball screw lead (mm) 12 6
Maximum speed "' (mm/sec) 500 250
Maximum [Horizontal 10 20
payload (kg) | Vertical 4 8
Max. pressing force (N) 75 100
Stroke (mm) 50 to 200 (50pitch)
Lost motion 0.1mm or less
Rotating backlash (°) +/-1.0
Overall length[Horizontal Stroke+236.5
(mm) | Vertical Stroke+276.5
Maximum outside dimension

of body cross-section (mm) W48 x H56.5
Cable length (m) Standard: 1/ Option: 3, 5, 10

Note 1. The maximum speed needs to be changed in
accordance with the payload.
See the “Speed vs. payload” graph shown on the right.
For details, see P. 152.

Note 3. The robot cable is flexible and resists bending. B SH
Note 4. See P.522 for DIN rail mounting bracket.

purchase, the machine reference amount must be  Note 5. Select this selection when using the gateway _

V: With flange

il Origin position [ Bracket plate [d — IS2: TS-S2 Note 4 INP: NPN
50 to 200 1K: Im PN: PNP
|Z: Non-motor side | |H: With plate (50mm pitch) | |3K: 3m lcC: CC-Link
i 5K: 5m DN: DeviceNet™
10K: 10m EP: EtherNet/IP™
PT: PROFINET

function. For details, see P.66.

IGW: No I/O boardes

INP: NPN B: With battery
PN: PNP (Absolute)

m EP: EtherNet/IP™
PT. PROFINET
22 Lead6 [GW: No I/0 board™es

)
i 15 \ B SD 1
g Lead 12
210 1/0 cable
g, \I SD: TS-SD 1. 1m

0 : :

0 100 200 300 400 500 600 M Running life
[ Vertical ] Speed (mm/s) 5000 km on models other than shown below.

9 Running life of only the model shown below becomes shorter than 5000 km

8 \ Lead6 depending on the payload, so check the running life curve.
=7
gs \ [ Vertical X Lead 12
A 6000
84 +§ Lead 12 — _
>3 - — E 5000
Q2 <

2 l N o 4000

0 | = 3000

0 100 200 300 400 500 600 2 5000
Speed (mm/s) € Note. See P.1F_>3 _
2 1000 for running life

. . B 0 distance to life time
Bl Motor installation (Space-saving model R T SN R conversion example.

SR03 Straight model @»

A
See Note 5. *9.5 68.5

Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command

Ball screw greasing port (¢6.5)

.|

= E o @D

T

M4x0.7 Depth 5
(For securing cable) -

4 N
(3
M8x1.25 - i

5 13
N
ﬂ' M4x0.7 Depth 5
o (For securing cable)

Dimensions of attached nut View A

Option: Horizontal installation plate (foot)

* Contents of option: Plate, 2 pcs.
See our robot manuals for additional settings.

%
| —

25

K-M3x0.5 Depth 4

Option: Vertical installation plate (flange)

(10) 275 %
8 18 3
7.5 (Width across flat part) &
" M8x1.25 < 4-M3x0.5 Depth 10
! I kel (90°-equal division)
e @
- =HE=33 gl =
1 m ©| = Gy
o @] ° o B
10 L1 Origin on g
L motor side,/ Origin on
L+40 (with brake) 37.5+/-2 Efective stoke | \ pon'motor side 2 y
o
N 35 | (Width across flat)
— 4 4
— 3 4

50 ‘
Hx50 41

Effective stroke| 50 100 | 150 | 200

Length under head 14

e I

Hex. socket head cap bolt (M3x0.5), Length under head 10

* Two bolts are required for one plate.

2-05.5 (41)
* See the bottom installation tap position.

aols

52
25

(
tka °

Hex. socket head cap bolt (M3x0.5), L1 161 | 211 | 261 | 311
L 249 | 299 | 349 | 399
LA H 2 3 4 5
Ol O m® ¥ K 6 | 8 [ 10 ] 12
QN T n= Weight (kg) "7 | 11 1.3 1.4 1.6
] @@0‘ g ght (kg)
i Note 1. Itis possible to apply only the axial load.
LLJ Use the external guide together so that any radial load is not
55 applied to the rod.

4-4.5

drill-through

Note 2. The orientation of the width across flat part is undefined to the
base surface.

Note 3. Use the support guide together to maintain the straightness.

Note 4. When running the cables, secure cables so that any load is not
applied to them.

Note 5. Remove the M4 hex. socket head cap set bolts and use them
to secure the cables. (Effective screw thread depth 5)

Note 6. The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8. Distance to mechanical stopper.

TS-S2 » 514 TS-SH » 514 [ TS-SD » 524 |

161 aw



SR03 Space-saving model (motor installed on right)

(15)

(81

94

Option: Horizontal installation plate (foot)

* Contents of option: Plate, 2 pcs.
See our robot manuals for additional settings.

Hex. socket head cap bolt (M3x0.5),
Length under head 10

Option: Vertical installation plate (flange)

128 (with brake)
88 J
Sy m—— e
| |-
—
-
= ~ Ball screw greasing port ($6.5
— greasing port (96,9 M8x125 13 5
———— e 2B ]
Origin on Originon . .
motor side non-motor side D of
95 685 {7(Note 8)) F[(5(Note 8) attached nut
. . ote —_—
Approx. 245 (Cable length) L 37542
See Note 5 Effective stroke =
g
S| |20
b1 O
— SE
Sy M8x125 L= =
ol
o P S e == =
o] i 75 o
M4x0.7 Depth 5 8118 | (Width across flat part) '
(For securing cable) /0| 4-M3x0.5 Depth 10
\AX0.7 Deoth 5 10 T (10) 27.5 (90°-equal division)
x0.7 De| T
(For securir?g cable) Hx50 41 11(Width across flat)
50 35 48
L ¢
e e e = &l Effective stroke] 50 | 100 | 150 | 200
% L1 161 211 | 261 311
p S K-M3~0.5 Depth 4 L 204 | 254 | 304 | 354
i ‘ H 2 3 4 5
|l K 6 | 8 | 10| 12
. . Weight (kg) “°"| 1.3 15 1.6 1.8

Note 1.Itis possible to apply only the axial load.
Use the external guide together so that any radial load is

15
1 /*Two bolts are required for one plate. Hex. socket head cap bolt (M3x0.5), not applied to the rod. )
f/ Length under head 14 Note Z.Lr;ebzr:en:frg;:f the width across flat part is undefined to
A4 Note 3.Use the support guide together to maintain the straightness.
— ‘J\.’I 3|3 T 0 Note 4.When running the cables, secure cables so that any load is
® [ I < not applied to them.
> { = © Note 5.Remove the M4 hex. socket head cap set bolts and use
2-¢5.5 @ o o them to secure the cables. (Effective screw thread depth 5)
drill-through 41 _QJ 4-04.5 Note 6.The cable’s minimum bend radius is R30.
* See the bottom installation t it (37,5) dill-through 55 Note 7. Models with a brake will be 0.2kg heavier.
e the botiom installation tap position. Em— Note 8.Distance to mechanical stopper.
SR03 Space-saving model (motor installed on left)
A
10 M4x0.7 Depth 5 %q 685
r—  (For securing cable) See Note 5. - Ball screw greasing port (¢6.5)
~ 4
: \ e o — B = ==
ﬁ u M8x1.25 13 5
Origin on Origin on -
View A motor side nor?—motor side 2
Dimensions of attached nut
128 (with brake) (7(Note 8)) | |(5(Note8) ~—
(40) (24) Approx. 245 (Cable length) L ! 37.54-2
Effective stroke F|
g
N T § G“
M8x1.25 =l <
o)
o e e g == i
N
94 7.5 11
T — 818 |(Width across flat part) Width
: 4-M3x0.5 Depth 10 across flat)
I | 1 (10) 27.5 (90 Y 35
-equal division)
Option: Horizontal installation plate (foot) E
* Contents of option: Plate, 2 il - K-M3x0.5 Depth 4
ontents of option: Plate, 2 pcs. m "
See our robot manuals for additional settings. & =+ Z Effective stroke| 50 100 | 150 | 200
P | 12— R g‘,] [ 161 | 211 | 261 | 311
S S L 204 | 254 | 304 | 354
) 3 M4x0.7 Depth 5 s 80| H 2 | 3] 415
I = (For securing cable) K 6 8 10 12
B e 10 L Weight (kg)"™™7| 1.3 | 15 | 16 | 1.8

Hex. socket head cap bolt (M3x0.5),
Length under head 10

L0|N<r
©

2-05.5

5.
drill-through

162

41)
* See the bottom installation tap position.

* Two bolts are required for one plate.

Option: Vertical installation plate (flange)
Hex. socket head cap bolt (M3x0.5),

Length under head 14

=]

24
34

=l

I

(37.5)

4-04.5
drill-through

Note 1.1t is possible to apply only the axial load.
Use the external guide together so that any radial load is
not applied to the rod.

Note 2. The orientation of the width across flat part is undefined to
the base surface.

Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is
not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use
them to secure the cables. (Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

BN TS-S2 > 514 [ TS-SH » 514 [ TS-SD » 524 |




SR03 Space-saving model (motor installed on top)

M4x0.7 Depth 5 Approx. 245 (Cable length) 37.5+-2 Effective stroke (5(Note 8))
(For securing cable) ~ 10_ 115 Ball screw greasin t- Originon | | Origin on
) port (¢5,5)g 9 (T(Note )\ motor side\\_non-motor side
=
T
— I == A E— ””E@*’H—' M8x125 13 5
1 .
View A 7 @ g
Dimensions of attached nut
(15)
128 (with brake) 56.5
48
88 21
g 21
1° q
Oy -
gl oln| @ &
3 — M8x1.25 “le 3
. & =)
e — By s ! o
< — BA =4
o] [/ o[ 175 S 8
- 42 3| 18 |(Width across flat parf) j
[\é4><0.7 Depth 5bI ) o] 4-M3x0.5 Depth 10
or securing cable X ivisi
Option: Horizontal installation plate (foot) g (10) 27.5 %MM&T)O
— o idth across fla
* Contents of option: Plate, 2 pcs. % T>\ _ K-M3x0.5 Depth 4 35
See our robot manuals for additional settings. ) ‘ % E3 ¥
@#T—w ———— T — e g
| S S
N . T—7 1 t— =0 Effective stroke| 50 150 | 200
& M4x0.7 Depth & Hx50 4 L1 161 261 | 311
T B (For securing cable) ho 1 L 204 304 | 354
Hex. socket head cap bolt (M3x0.5), H 2 3 4 5
15 Length under head 10 Option: Vertical installation plate (flange) K 6 8 10 12
* Two bolts are required for one plate.
& Hex. socket head cap bolt (M3x0.5), Weight (kg)"“*"| 1.3 | 1.5 | 1.6 | 1.8
&= Length under head 14 s |

\
25
52
64

% ‘

2955 LP
drill-through

1)
* See the bottom installation tap position.

TS-S2 » 514 TS-SH » 514 [ TS-SD » 524

Note 1.1t is possible to apply only the axial load.

O o6 % K3 Use the external guide together so that any radial load is not applied to the rod.
— - —1—F — & g[ - - Note 2.The orientation of the width across flat part is undefined to the base surface.
) ol E{ L@ - Note 3.Use the support guide together to maintain the straightness.
~— " Note 4.When running the cables, secure cables so that any load is not applied to them.
]_OJ 4-4.5 45 Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the cables.
(37.5) | drill-through 55 (Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.
Note 7. Models with a brake will be 0.2kg heavier.
Note 8.Distance to mechanical stopper.

163




@ CE compliance
M Ordering

SRDO03-U

SRD03-
TR

S: Straight model

Brake Bl Origin position |
N: With no brake| |N: Standard Mete2

06: 6mm

U: Space-saving model Note !

|B: with brake

| [z:Non-motor side| |H: With pl

ICC: CC-Link

(motor installed on top)

Bracket plate [ B Cable length M
IN: No plate 50 to 200 :
late (50mm pitch) .

IDN: DeviceNet™

EP: EtherNet/IP™

PT: PROFINET

IGW: No I/0 boards

= o
;’; é Note 1. See P.153 for grease gun nozzles. Note 3. The robot cable is flexible and resists bending. B SH | H |
Z Note 2. If changing from the origin position at the time of ~ Note 4. See P.522 for DIN rail mounting bracket. - __
f.’n’ o purchase, the machine reference amount must be Note 5. Select this selection when using the gateway INP: NPN o
=3 reset. For details, refer to the manual. function. For details, see P.66. SH.TS-S : B. With batery
Ss : f:’é Fg\(‘:PLink r\(lAzsome)
S B e - : CC-| : None
=k H Basic specifications H Speed vs. payload BN DevicNeT™ (Incremental)
EP: EtherNet/IP™
Motor 42 [ Step motor CHEED BT PROFINET
Resolution (Pulse/rotation) 20480 25 GW: No I/0 boardes
Repeatability (mm) +-0.02 2 Lead® sD 1
Deceleration h Ball screw ¢8 o \
=15
Ball screw lead (mm) 12 6 E Lead 12 1/0 cable
Maximum speed ***' (mm/sec) 500 250 210 \ SD: Ts-SD 1 1m
©
boviona k) | Vertieal 34 e M Runninglife |
payload (kg) Vertical 3.5 75 0 | M Running life
: 5000 km on models other than shown below.
Max. fi N 75 100
axdpressingiforcel(N) - 0 100 200 300 400 500 60O Running life of only the model shown below becomes shorter than 5000 km
Stroke (mm) 50 to 200 (SOpitch) Speed (mm/s) depending on the payload, so check the running life curve.
Lost motion 0.1mm or less
Rotating backlash (°) +/-0.05 3 — 6000
Overall length| Horizontal Stroke+236.5 5 \ Lead6 T 5000
(mm) Vertical Stroke+276.5 2. \\ < 4000
Maximum outside dimension B4 = 3000
> . W48 x H56.5 3 _\—\ Lead 12 =)
of body cross-section (mm) _ % 3 \ £ 2000 Note. See P.153
Cable length (m) Standard: 1/ Option: 3, 5, 10 a 2 \ C £ 1000 for running life
Note 1. The maximum speed needs to be changed in ; | N T o 5 > = distance to life
accordagce with the payloag. ) 0 100 200 300 400 500 600 Payload (kg) grr;; colgversmn
See the “Speed vs. payload” graph shown on the right. Speed (mm/s) xample:
For details, P. 152.
or aetatls, see H Controller
Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
SRDO03 Straight model @&
Effective stroke+78
35.5
A =
See Note 3. WTer—r——— | —
B ¥ Blel‘i E——— =
i I V 1
1 Ei LA )
— | i 1.
- Ball screw
reasingport | ——— |
(06.5) — =
Approx. 250 (Cable length) a5 885 =
{ / } 97 ~ 8-M4x0.7 Depth 10
; 23__23 23 (For user tool installation)
o——17 1o 18 & I 4-M4x0.7 drill-through
03 5 :ﬁ T S (G0 (For main unit installation)
© ] + | o . 3 A
Sl £ e = 1 N IS 7 S AN S
= i ———— ,-1=L il g - @ N QJ| B )
e T /S | L] = - & e oT% oy
M4x0.7 Depth 5 L ‘ ‘u"‘ @’Le -
48 0.7 Dep 10, L1 Origin on 35
(For securing cable) L motor side / 83
L+40 (with brake) 37.5+/-2| Effective stroke | \ Origin on 105
. non-motor side
——— |
g 10
=
F— o + ° _) N
0| [sV
R - ,
Option: Horizo on plate (foc — » A
* Contents of option: Plate, 2 pcs. K-M3x0.5 Depth 4 | = M4x0.7 Depth 5
See our robot manuals for fadditional settings. = ) (For securing cable)
50 = View A
Hx50 41 —
Y Effective stroke| 50 | 100 | 150 | 200
| = L1 161 | 211 | 261 | 311
= ° L 249 | 299 | 349 | 399
[ H 2 3 | 4 5
& I m K 6 8 10 12
& / Weight (kg) “°*| 15 | 1.7 | 1.9 | 21

a5

52

=D

a7

b [/

2-05.5 /| | ] %%41)

164

Hex. socket head cap bolt (M3x0.5), Length under head 10

* Two bolts are required for one plate.
* See the boftom installation tap position.

Note 1.Itis possible to apply only the axial load.

Use the external guide together so that any radial load is not applied to the rod.

Note 2.When running the cables, secure cables so that any load is not applied to them.
Note 3.Remove the M4 hex. socket head cap set bolts and use them to secure the cables.

(Effective screw thread depth 5)

Note 4.The cable’s minimum bend radius is R30.
Note 5.Models with a brake will be 0.2kg heavier.
Note 6.Distance to mechanical stopper.

TS-S2 » 514 [ TS-SH » 514 [ TS-SD » 524 |




SRDO03 Space-saving model (motor installed on top)

Approx. 245 (Cable length)

M4x0.7 Depth 5
(For securing cable) .1%,
1 ;é
View A
\
3 \
ﬁﬁ“ ‘ ﬂmﬂ
HO) I Ot
kx| | |[¥d
N 42
* Contents of option: Plate, 2 pcs.

See our robot manuals for additional settings.

=l

Hex. socket head cap bolt (M3x0.5),
Length under head 10
15 * Two bolts are required for one plate.

St

2-¢5.5
drill-through,

@) =
* See the bottom installation tap position.

A
Q L 37.5+-2_Effective stroke _(5(Note 8))
11.5 (7(Note 8)) | ~ Origin on B )
. = motor side| | Origin on non-motor side
Ball screw greasing port i, T
(96.5) T
e —— Yol
T ™
41 | M — 1 . I s N
1= -
1 i
S *’j’f e
© 0| L
355 [10] [18 ]
Effective stroke+78 56.5

<]

53

-
7777777 %,77717777
[ o

122 |
27
30
35

21

M4x0.7 Depth 5

(For securing cable)

©,

fo]

—

4-M4x0.7 drill-through
(For main unit installation)

8-M4x0.7 Depth 10
For user tool installation

L e
M4x0.7 Depth 5 —
(For securing cable) KM3x05 pme ] - |
Depth 4 — —
50 —
Hx50 41
10 L1
Eff v rok 1 1 2 Note 1.1t is possible to apply only the axial load.
sctive stroke | 50 00 50 00 Use the external guide together so that any radial load is not applied to the rod.
L1 161 | 211 | 261 | 311  Note 2.The orientation of the width across flat part is undefined to the base surface.
L 204 254 4 4 Note 3.Use the support guide together to maintain the straightness.
0 5 30 35 Note 4.When running the cables, secure cables so that any load is not applied to them.
H 2 3 4 5 Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
K 1 12 cables. (Effective screw thread depth 5)
- Note7 6 8 0 Note 6.The cable’s minimum bend radius is R30.
Weight (kg) 1.7 1.9 2.1 2.3 Note 7.Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

TS-S2 » 514 TS-SH » 514 [ TS-SD » 524

165



SR04 am

@ CE compliance

8 Orderin:

@ Origin on the non-motor side is selectable: Lead 6, 12

SR04 -

S: Straight model

N: With no brake|

Brake

R:Space-saving model Not !

|B: With brake

il Origin position “**2 & Bracket plate [
N: Standard Nete 3 :
|Z: Non-motor side| |H: Wi

(motor installed on right)
L: Space-saving model Mot
(motor installed on left)

Note 1. See P.153 for grease gun nozzles.

Note 4. The robot cable is flexible and resists bending.

Cable length "ete4

/0

1S2: TS-S2 Note5

INP: NPN

1K: 1m
3K: 3m

5K: 5m
10K: 10m

IPN: PNP

ICC: CC-Link

IDN: DeviceNet™

[EP: EtherNet/IP™

IPT: PROFINET

IGW: No I/O board"s

= 2 Note 2. When “2mm lead” is selected, the origin position ~ Note 5. See P.522 for DIN rail mounting bracket.
;’; a cannot be changed (to non-motor side). Note 6. Select this selection when using the gateway B SH B
Z 5 Note 3. If changing from the origin position at the time of function. For details, see P.66. - _
o 5 purchase, the machine reference amount must be INP: NPN o
2 s reset. For details, refer to the manual. - PN: PNP (Absolute) y
<k M Basic specifications M Speed vs. payload or DoroneT | Lot ntal)
Motor 42[] Step motor [ Horizontal ] g.Pl_f sg‘gg}‘ﬁg!: ™
Resolution (Pulse/rotation) 20480 50 GW: No I/0 board™e®
Repeatability (mm) +/-0.02 20— Lead 2
Deceleration mechanism Ball screw ¢8 |Ball screw ¢10 ° L
Ball screw lead (mm) 12 6 2 30 \ Lead 6 SD 1
Maximum speed "= Isec) 500 250 80 3 N\ Robot driver 1/0 cable
payload (kg) | Vertical 5 12 25 Q40
Max. pressing force (N) 150 300 600 o \
Stroke (mm) 50 to 300 (50pitch) 0 100 200 300 400 500 600 " "
Lost motion 0.1mm or less Speed (mm/s) M Running life
Rotating backlash (°) +/-1.0 30 5000 km on models other than shown below.
Overall length ‘ Horlzm.'ltal Stroke+263 25 Lead2———— Running life of only the model shown below becomes shorter than 5000 km
(mm) Vertical Stroke+303 S ‘
Maximum outside dimension 220 depending on the payload, so check the running life curve.
of body cross-section (mm) W48 x H58 B1s \ Lead 12
Cable length (m) Standard: 1/ Option: 3, 5, 10 =10 \ lLead6 6000 6000
@ P —
Note 1. The maximum speed needs to be changed in oy \ Lead 12 E£5000 £5000
accordance with the payload. o 2 4000 \\ 2 4000)
See the “Speed vs. payload” graph shown on the right. 1 20 7 = =
For details, see P. 152. Additionally, when the stroke 0 100 e mmis) %0 800 ‘g3000 X 23000
is long, the maximum speed is decreased due to the '€ 2000 '€2000
critical speed of the ball screw. See the maximum £ 1000 & 1000
speed table shown at the lower portion of the drawing. 0 o
0 20 25

H Motor installation (Space-saving model)

166

57

Motor installed on right

Motor installed on left

SR04 Straight model @

10 15
Payload (kg)

2 3 4
Payload (kg)

Note. See P.153 for running life distance to life time conversion example.

Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command

(Width across
flat)

A
Soo Noto 6 ) M4x0.7 Depth 5 05
ee Note 6. 9.5 E i 3 i >
- + 67.5 Ball screw greasing port (¢6.5) (For securing cable)\ T T~
1 é )
= LY &
- R 'S
— 0|
Approx. 250 (Cable length) 10) 325
L 9 22 |
| | .
@EE 8.5 (Width across flat part,
= pary
N e M10x1.25
o1
=1
(=)
- Q
0| ©t
M4x0.7 Depth 5 V,- @ A
For ing cable; ! . e
(For securing cable) g, L1(T-slot range) Origin on T-slot for M3 (8 locations)
L molor side Qrigin on non-motor side (Note 4)
L+40 (with brake) 42.5+/-2 | Effective stroke | ="

Option: Horizontal installation plate (foot)

* Contents of option: Plate, 2 pcs., Nut, 12 pcs.
See our robot manuals for additional settings.

Installed within the T-slot range of the
main unit.

Hex. socket head cap bolt (M3x0.5),
Length under head 10

Option: Vertical installation plate (flange)

Hex. socket head cap bolt (M4x0.7),
Length under head 14

[ © ‘ )

| —— e g[,,f,@,A,,

|

/ =] |
PQJ(42-5) 4-06.6 sg

2.4 @
b

M3x0.5
Dimensions of attached

17, M10x1.25

*Six bolts are required for one plate.

square nut for T-slot (6 pcs.) Details of T-slot Dimensions of attached nut
§ Effective stroke 50 | 100 | 150 | 200 | 250 | 300
L1 162.5|212.5|262.5|312.5|362.5|412.5
L 270.5|320.5|370.5|420.5|470.5 | 520.5
Weight (kg) “*°* 14 | 17 | 19 | 22 | 24 | 27
Maximum |Lead 12 500 440 | 320
speed for each
stroke Lead 6 250 220 | 160
(mm/sec) |Lead 2 80 72 53

Note 1.1t is possible to apply only the axial load.
Use the external guide together so that any radial load is not applied to the rod.

Note 2.The orientation of the width across flat part is undefined to the base surface.
Note 3.Use the support guide together to maintain the straightness.

Note 4. For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 5.When running the cables, secure cables so that any load is not applied to them.
Note 6.Remove the M4 hex. socket head cap set bolts and use them to secure the cables. (Effective screw thread depth 5)
Note 7. The cable’s minimum bend radius is R30.
Note 8.Models with a brake will be 0.2kg heavier.
Note 9.Distance to mechanical stopper.

TS-S2 » 514 [ TS-SH » 514 [ TS-SD » 524 |




SR04 Space-saving model (motor installed on right)

Approx. 245 (Cable length) L 42,542 Effective stroke_(5(Note 8))
\ 152 (with brake) ) (7(Note 8),
Origin on Origin on
motor side | \_non-motor side (Note 9)
58 M10x1.25
33 6
)
¢ =
o= —— i ————— HRED--EE il of section B Dimensi
(40) (24) ﬂl ”JJE Detail of section B T 'nﬁtor
See Note 5, Ball screw < S 56
67.5 greasing port ($6.5) gl T-slot for M3
8 (8 locations)
.5 L1(T-slot range) £
. =
=
ll MiOx125 =
el
3 | R — TR 8 99 -
w ¥
g‘l :é 85 | B
)
100 0.5 M4x0.7 Depth 5 — %\glt\(;?ne;cross 14 I Depth 10
(For securing cable) / | 9.5 (10) 325 (Width across 25 (90°-equal
Max0.7 Deoth 5 flat) division)
x0.7 Dep! 28
(For securing cable) 9.5 ) M3x0.5 24 45 48
Option: Horizontal installation plate (foot) i ("<\ = 102.5
* Contents of option: Plate, 2 pcs., Nut, 12 pcs. , = —
See our robot manuals for additional settings. of pl Di ions of attached Effective stroke 50 | 100 | 150 | 200 | 250 | 300
square nut for T-slot (6 pcs.) L1 162.5|212.5|262.5|312.5|362.5|412.5
EZ@»? L L 209.5|259.5|309.5|359.5|409.5|459.5
2 Weight (kg) ">’ 16 | 19 | 21 | 24 | 26 | 29
&
il S T —— Maximum |Lead 12 500 440 | 320
on: cal installation plate (flange]
:r’l‘sta\led wkithirr: thde T-skgt r‘a?’\%%oétg)e main unit. = Gl Ll —— spee;:::l:eea‘:h Lead 6 250 220 160
2-06.6 lex. socket head cap bolt (M3x0.5), Hex. socket head cap bolt (M4x0.7),
drill-through 2?0 I:en_gth under head 10) (42.5) Length under head 14 73 (mmisec) |Lead?2 8 2 53
T Six bolts are required for one plate. ho 4-06.6 Note 1. It is possible to apply only the axial load.
| drill-through Use the external guide together so that any radial load is not applied to the rod.
- [ — Note 2. The orientation of the width across flat part is undefined to the base surface.

Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
cables. (Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Note 9. For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 10.This unit can be installed with the motor facing up (turned 90 degrees from

the position in this drawing).

(=
L 3 oy
— <t O
@
o~ ™
a 1D+

SR04 Space-saving model (motor installed on left)

A
M4x0.7 Depth 5 9.5 ) Approx. 245 (Cable length) v L 425412 _Effective stroke_(5(Note 8))
(For securing cable) oo 95 L1(T-slot range)
(7(Note 8)) | Origin on Origin on
- Note 5. 67.5 Ball screw greasing motor side L non-motor side (Note 9)
& port (¢6.5)
=yl o} = = —
AN | - . ) N —— . - -
— cl -
View A a - M10x1.25 17 6 33 b8
5 -
=
(40) (24) . " g . .
= == f Detail of B
2 o nut etail of section Teslt for M3
_ 152 (with brake) (8locations)
)
{ 5 M10x1.25 <
© 2
: T et O]
8.5 QO Al
05 100 ) 9| 20 |Widthacross 2| | 4-M4x0.7
© M4x0.7 Depth 5 flat part) Depth 10 (Width across fit)
(For securing cable) 9.5 (90°-equal 25
) S MB05 4 (10) 325 division) T
* Contents of option: Plate, 2 pcs., Nut, 12 pcs. i <\ ) 48 J 45
See our robot manuals for additional settings. , = 102.5
I A
“r Dimensions of attached Effective stroke 50 | 100 | 150 | 200 | 250 | 300
% square nut for T-slot (6 pes) L1 162.5|212.5|262.5|312.5|362.5| 412.5
ﬁ L 209.5|259.5|309.5|359.5|409.5|459.5
Iy Weight (kg) Note? 1.6 1.9 241 2.4 2.6 29
e Maximu Lead 12 500 440 | 320
Installed within the T-slot range of the main unit. Hex. socket head cap bolt (M4x0.7), spees({rfglz':ach Lead 6 250 220 | 160
2-06.6 20 (Hex. socket head cap bolt (M3x0.5), Length under head 14 (mmisec) [Lead 2 80 72 53
drill-through | 10[ I:er?gm under head.ﬂ)) Note 1.t is possible to apply only the axial load.
| Six bolts are required for one plate. Use the external guide together so that any radial load is not applied to the rod.
10, Note 2.The orientation of the width across flat part is undefined to the base surface.
] Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
cables. (Effective screw thread depth 5)

Note 6. The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Note 9.For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 10.This unit can be installed with the motor facing up (turned 90 degrees from the

position in this drawing).

7

HeEo g)s

TS-S2 » 514 TS-SH » 514 [ TS-SD » 524 167




—
-~
>
Z
w
=
<
[©)

=8
=
=L
B
P
)
x
@
3
&
o
@

168

Model
S: Straight model

U: Space-saving model Note t

Brake

N: With no brake|
|B: With brake

- Ongm position "2 B Bracket plate -
50 to 300
(50mm pitch)

Z Non-motor side| |H: Wlth plate

(motor installed on top)

Note 1. See P.153 for grease gun nozzles.

Note 2. When “2mm lead” is selected, the origin position

cannot be changed (to non-motor side).

Note 3. If changing from the origin position at the time of

Note 4. The robot cable is flexible and resists bending.
Note 5. See P.522 for DIN rail mounting bracket.

Note 6. Select this selection when using the gateway
function. For details, see P.66.

Robot positioner

[52: TS-S2 M5 | INP: NPN
1K: 1m PN: PNP
3K: 3m ICC: CC-Link
5K: 5m IDN: DeviceNet™
10K: 10m EP: EtherNet/IP™

PT: PROFINET

IGW: No I/O board"«®

- SH | ]

purchase, the machine reference amount must be NP NPN o '
reset. For details, refer to the manual. - PN: PNP (Absolute) y
ICC: CC-Link N: None
H Basic specifications | Speed vs. payload T oromental)
Motor 42 [ Step motor g?f sg‘g;’;ﬁg!: ™
Resolution (Pulse/rotation) 20480 50 GW: No 1/0 boards
Repeatability (mm) +/-0.02 |- Lead 2
Deceleration h Ball screw &8 [Ballscrew 10 40 L SD 1
Ball screw lead (mm) 12 6 2 gao \ Lead 6
Maximum speed " (mm/sec) | 500 250 80 k] \ . /0 cable
Maximum _|Horizontal| 25 40 45 220 Lead 12 — SD: TS-SD 1. 1m
payload (kg) [ Vertical| 4 1 24 & 10 \
Stroka o] 5616500 GOt
Stroke (mm) 50 to 300 (50pitch) 0 \ . Runnmg life
Lost motion 0.1mm or less 100 200 300 400 500 600 5000 km on models other than shown below.
Rotating backlash (°) +/-0.05 Speed (mm/s) Running life of only the model shown below becomes shorter than 5000 km
Overall length [Horizontal Stroke+263 Vertical depending on the payload, so check the running life curve.
(mm) e Stroke+303 ® vertcald
Maximum outside dimension 25 b— | 2 E6000 6000
of body cross-section (mm) W48 x H58 Sl 5008 5008
Cable length (m) Standard: 1/ Option: 3,5, 10 220 ‘ =300 2300
Note 1. The maximum speed needs to be changed in § 15 Lead 6 émon 51008
accordance with the payload. % 10 N\ 0 5 10 15 20 25 Payload (kg) 0 1 2 3 4 5 Payload(kg)
See the “Speed vs. payload” graph shown on the right. Qg \ Lead 12 Note. See P.153 for running life distance to life time conversion
For details, see P. 152. example.
Additionally, when the stroke is long, the maximum 0 100 zomoo 500 600
speed is decreased due to the critical speed of the ball
screw. Speed (mm/s) M Controller
Sszi;hneorp?h)grgl:arcvisrreed table shown at the lower Controller | Operation method Controller | Operation method
P 9: TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
e 3 N\
SRD04 Straight model @&»
Effective stroke+100.5
45
A ofo [ e —— N =
‘ P H
w
,3 ~|
E == [
Ball screw 2 8-M5x0.8
greasing port - Depth 12
(96.5) t—— R g = et (For user tool | 4-M5x0.8
67.5 installation) drill-through
— 126 (For main unit
105 _22 30 30 __ 30 /
] TR o5 2P
f — E=——— =11 1TJT£8 T —H{QH) — - [+&3
f - %)
)
M4x0.7 Depth 5 95 L © L1(T-slot range) T-slotfor M3|_ 25
(For securing cable) L 4 locations) ~ 105
| L+40 (with brake) | Effective stroke [\ o, gin on 135
Option: Horizontal installation plate (foot) nﬁgtén gtor side  M4x0.7 Depth 5 9.5
* Contents of option: Plate, 2 pcs., Nut, 12 pcs. (For securing cable)
See our robot manuals for additional settings. 2.4
o M3x0.5

[
10 (22.5

Dimensions of attached
square nut for T-slot (6 pcs.)

Details of T-slot

20 _ Installed within the T-slot range of the main unit.
2;%-_6\ 10— Hex. socket head cap bolt (M3x0.5), Length under head 10
* Six bolts are required for one plate.
— Note 1.Itis possible to apply only the axial load.
— Use the external guide together so that any radial load is not applied to
Fo) Effective stroke 50 | 100 | 150 | 200 | 250 | 300 the rod.
H 1 162.5|212.5|262.5|312.5|362.5| 412.5 Note 2.22{ lead 2mm specifications, the origin on the non-motor side cannot be
S @ L 270.5|320.5|370.5(420.5|470.5|520.5 Note 3.When running the cables, secure cables so that any load is not applied
I - Note 6 to them.
=t | Weight (kg) 2.0 2.4 2.7 3.0 3.3 37 Note 4.Remove the M4 hex. socket head cap set bolts and use them to secure
@ Madx;mum n Lead 12 500 440 | 320 the cables. (Effective screw thread depth 5)
I_ || speed for eacl Note 5.The cable’s minimum bend radius is R30.
stroke Lead 6 250 220 160 Note 6.Models with a brake will be 0.2kg heavier.
- (mm/sec) |Lead2 80 72 53  Note 7.Distance to mechanical stopper.

TS-S2 » 514 [ TS-SH » 514 [ TS-SD » 524 |




SRD04 Space-saving model (motor installed on top)

* Contents of option: Plate, 2 pcs., Nut, 12 pcs. M4x0.7 Depth &
See our robot manuals for additional settings. (For securing cable)
il =
4 5
it T
— ¥
)
iy 8
[l e 1 le5 12 i
Installed within the T-slot range of the main unit. Approx. 245 (Cable length) L 42.5+-2_ Effective stroke (5(N$>te 8))
(Hex. socket head cap bolt (M3x0.5), (7(Note 8)) | Origin on Originon
Length under head 10) | motor side | | non-motor side (Note 9)
o : = e
Six bolts are required for one plate.
1 — —
20 —— | i e e
2-¢6.6 10 e —
drill-through e = | b ©
T I I B — igf =1
T === nI g
— ln’l\ - = j;,i,i S By S s S
AN O N~ e ] -
= =
p=
IR 45 05 22
— Effective stroke+100.5 565 1
= 152 (with brake) 48 8-M5x0.8

21 Depth 12
(For user tool

() installation)
© 4-M5x0.8
~ drill-through
(For main unit

8 ! S installation)
rons \ \ 3%
I LDF’ R . | ol v
@ | 0 E["’ Y
e i | & :
0 ‘ ﬁef 5 675 Ball screw greasing|  T-slot for M3
< 44 ote . - port (¢6.5) (4 locations)
45 Mdx0.7 Depth 5 95 L1(T-slot range) 105
(For securing cable) 95 126
TE M3x0.5 Miox1.25 17, 6 135
Effective stroke 50 | 100 | 150 | 200 | 250 | 300 SA 24
L1 162.5]212.5|262.5|312.5[362.5| 412.5 EYJ' & @ ﬁ%%‘
L 209.5|259.5|309.5 | 359.5|409.5|459.5 m[ - 5871
f Note 7 © I Di of attached Detail of Dimensions of
Weight (kg) 22 | 26 | 29 | 32 | 35 | 39 ~ square nut for T-slot (6pcs) ~ section B attached nut
Maximum |Lead 12 500 440 | 320 Note 3.Use th \ quide together to maintain the straight
d f hi ote 3.Use the support guide together to maintain the straightness.
speestr:;eeac Lead 6 250 220 160 Note 4.When running the cables, secure cables so that any load is not applied to them.
(mm/sec) Lead 2 80 72 53 Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the cables. (Effective screw thread depth 5)
Note 6.The cable’s minimum bend radius is R30.
Note 1.1t is possible to apply only the axial load. Note 7. M_odels with a brake_will be 0.2kg heavier.
Use the external guide together so that any radial load is not applied to the rod. Note 8.Distance to mechanical stopper. _
Note 2. The orientation of the width across flat part is undefined to the base surface. Note 9.For lead 2mm specifications, the origin on the non-motor side cannot be set.

TS-S2 » 514 TS-SH » 514 [ TS-SD » 524 169




SRO5 e

@ CE compliance @ Origin on the non-motor side is selectable: Lead 6, 12

m Brake i Origin position ***2 & Bracket plate [
S: Straight model N: With no brake| |N: Standard Note3 :
|Z: Non-motor side| |H: Wi

Cable length et S2: TS-S2 Note5 INP: NPN

1K: 1m PN: PNP

R:Space-saving model N 1 | [B: With brake 3K: 3m ICC: CC-Link
(motor installed on right) 5K: 5m [DN: DeviceNet™ |
L: Space-saving model| Mot 10K: 10m [EP: EtherNet/IP™
(motor installed on left) [PT.PROFINET |
Note 1. See P.153 for grease gun nozzles. Note 4. The robot cable is flexible and resists bending. IGW: No I/0 board"¢|
= Note 2. When “2mm lead” is selected, the origin position ~ Note 5. See P.522 for DIN rail mounting bracket.
:’; a cannot be changed (to non-motor side). Note 6. Select this selection when using the gateway r SH | H |
Zz? Note 3. If changing from the origin position at the time of function. For details, see P.66. -
@ g purchase, the machine reference amount must be . 110 '
=3 reset. For details, refer to the manual. [SH: TS-SH INP: NPN B: With battery
<g Elé FC’T:PL' . ’\(‘Azsolute)
S B e - : CC-Linl : None
O & M Basic specifications M Speed vs. payload DN DeviceNat™ | (incremental)
Motor 56 [ ] Step motor [ Horizontal ] %
Resolution (Pulse/rotation) 20480 70 Toad 2 IGW: No /O board™s|
Repeatability (mm) +/-0.02 __60
Deceleration mechanism Ball screw $12 250 ) _Lead6 L SD 1
Ball screw lead (mm) 12 6 2 = N Lead 12
Maximum speed "“*(mm/sec) | 300 150 50 S 30 N Robot driver 1/O cable
Maximum [Horizontal| 50 55 60 7 20 ~ SD: TS-SD = 1m
payload (kg) | Vertical| 10 20 30 = |
Max. pressing force (N) 250 550 900 o |
Stroke (mm) 50 to 300 (50pitch) 0 50 100 150 200 250 300 350 | | Running life
Lost motion 0.1mm or less Speed (mm/s)
Rotating backlash (°) 1.0 Vertical 5000 km on models other than shown below.
Overall length [Horizontal Stroke+276 35 Running life of only the model shown below becomes shorter than 5000 km
(mm) | Vertical Stroke+316 _.30 —\> Lead 2 depending on the payload, so check the running life curve.
Maximum outside dimension 22 __6000
of body cross-section (mm) W56.4 x H1 920 —\V Lead 6 partics £ 5000
Cable length (m) Standard: 1/ Option: 3, 5, 10 o115 AN 2 4000 \
Note 1. The maximum speed needs to be changed in L1 S lead 12 33000 N\
accordance with the payload. 5 \ \ g 2000 \
See the f‘Speed vs. payload” graph shown on the right. 0 0 B0 700 150 200 250 300 350 05:1000
For details, see P. 152. Speed (mm/s) 0

0 5 10 15 20 25 30
Payload (kg)

a A " Note. See P.153 for running life distance to life time conversion
H Motor installation (Space-saving model example.

Motor installed on right Motor installed on left
Controller | Operation method Controller | Operation method
TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
SR05 Straight model @
i
See Note 7. 9.5 78 Ball screw greasing port M4x0.7 D? th 5 9.5
2 (06.5) (For securing cable)

1

o -~ e ,

Cable length) 10) 35.5 \ .
M4x0.7 Dfepth 5 10 24 ‘ View A S 17 (Width across flat)
= (For securing cable) 9.5 (Width across flat part) <

M12x1.25

' 0|
= olF e —
NE 3 (Note 5)  4-M5x0.8 Depth 10 17
9.5 = L1(T-slot range) Origin on Origin on (90°-equal division) i —
motor side non-motor side T-slot for M4 across flat)
L+40 (with brake) 45.5+/-2 |Effective stroke | \(Note 4) (8 locations)
7 19, M12x1.25
Option: Horizontal installation plate (foot) Option: Vertical installation plate (flange) %% M4x0.7
* Contents of option: Plate, 2 pcs., Nut, 8 pes. Hex. socket head cap bolt (M5x0.8), %'\ B 0 g
See our robot manuals for additional settings. Length under head 14 } gﬁ; B o) e 5
[Ie} 4
F- 4 o] H 104 4 Dimensions of attached - &
EEIEE - | e |1 1 | square nut for T-slot (6 pes.) Details of T-slot  Dimensions of attached nut
g N e
%%1 J g@& | Effective stroke | 50 100 | 150 | 200 | 250 | 300
o /| 70 L1 183 | 233 | 283 | 333 | 383 | 433
4-06.6 83
.66 20 L8| L 280.5|330.5 |380.5|430.5|480.5]530.5
1 Installed within the T-slot range of the - Note 10
main unit Weight (kg) "*"| 2.2 | 26 | 3.0 | 3.3 | 3.7 | 41

Hex. socket head cap bolt (M4x0.7),
Length under head 12

* Four bolts are required for one plate.

Note 1.1t is possible to apply only the axial load.

Use the external guide together so that any radial load is not applied to the rod.
Note 2.The orientation of the width across flat part is undefined to the base surface.
Note 3.Use the support guide together to maintain the straightness.
Note 4.For lead 2mm specifications, the origin on the non-motor side cannot be set.

= E Note 5.When the lead is 2mm, this dimension is 27mm.

ry - Note 6.When running the cables, secure cables so that any load is not applied to them.
Note 7. Remove the M4 hex. socket head cap set bolts and use them to secure the cables. (Effective screw thread depth 5)
Note 8.The cable’s minimum bend radius is R30.
Note 9. Take great care as the outer case of the motor projects from the bottom of the main unit.
Note 10.Models with a brake will be 0.2kg heavier.
Note 11.Distance to mechanical stopper.

68
(30]_
i

w170 TS-S2 > 514 | TS-SH > 514 | TS-SD » 524 |




SR05 Space-saving model (motor installed on right)

Approx. 245 (Cable length) L 45.5+-2__Effective stroke (5(Note 8 Note 12))  M4x0.7 > 82
146 (with brake) TNote3) a@ @
e,
r 1 _LfJ Origin on . Dimensions of attached
L‘T— 7 moor side| | Originon square nut for T-slot (6 pcs.)
,,,,,, U Tﬁ‘ —[\\non-motor side (Note 9) ——————
Lt .
- }_ ,,,,, _J Ball screw greasing
h - port (¢6.5) Mi2x125 19 7
w ~
T o
P N N | 5 e — @3 ,,,,,,, —
(40) (24) Detail of section B Di ions of
(Al 285 70 attached nut
j’“ 78 4-M5x0.8 Depth 10 T Tlotfor VA
= See Note 5. (90°-equal division) (ésigcag(r)ns)
(a2l — | Dbt A
1 95 L1(T-slot range) E={] 950
,,,,, Slg k )
e SEle/ &> (Y ]
= p M12x1.25 @)
- jiil®
w0 D & — i 1 - _ I TRl
ki 5 4 88 Q)] iyl N\ PE T
- L = 95 Bl |l @0 ) &
= i I T
1275 g b | o5 (Width across flat part)|
= 10[ 24 | 17
5 5 . : M4x0.7 Depth 5 Width flat) 30
Option: Horizontal installation plate (foot) (For securing cable) 05 :\gi:zgcer?r?éhcgble) o) 355 (Width across flat) > 564
* Contents of option: Plate, 2 pcs., Nut, 8 pcs. -
See our robot manuals for additional settings. o—
Effective stroke| 50 | 100 | 150 | 200 | 250 | 300
w
al - L1 183 | 233 | 283 | 333 | 383 | 433
L 227.5|277.5|327.5|377.5|427.5|477.5
~_H Weight (kg) "*°7| 2.4 | 28 | 3.2 | 35 | 39 | 43
[ ‘ Note 1.1t is possible to apply only the axial load.

(Hex. socket head cap bolt (M4x0.7),
Length under head 12)

* Four bolts are required for one plate

SR05

M4x0.7 Depth 5
95_(For securing cable)

18 0.7(Note 11)

Installed within the T-slot range of the main unit Option: Vertical installation plate (ﬂange)

Hex. socket head cap bolt (M5x0.8),

Length under head 14
i &)

Use the external guide together so that any radial load is not applied to the rod.
Note 2. The orientation of the width across flat part is undefined to the base surface.
Note 3.Use the support guide together to maintain the straightness.
Note 4. When running the cables, secure cables so that any load is not applied to them.
Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
cables. (Effective screw thread depth 5)

4-¢6.6 drill-through

Space-saving model (motor installed on left)

A
See @95

L1(T-slot range)

Note 6. The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Note 9.For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 10.This unit can be installed with the motor facing up (turned 90 degrees from
the position in this drawing).

Note 11.Take great care as the outer case of the motor and cover belt projects from
the bottom of the main unit.

Note 12.When the lead is 2mm, this dimension is 27mm.

Note 5.

—h

M4x0.7

:

i
bt
oaL—f—

B
)
EEY

? . Dimensions of attached
Origin on Origin on square nut for T-slot (6 pcs.)
= motor side |\ non-motor side (Note 9)  —
View A I3, Mi2x125 19 7
Ea— 43 o
|5 = a
&)
Detail of section B Dii ions of
Approx. 245 (Cable length) 146 (with brake) (7(Note 8) attached nut _
L 45.5+-2 Effective stroke (5(Note 8,Note 12))
40 L24), - T-slot for M4
— = (8 locations)
g BB S m‘o"% (8 locations)
N | % | B g =258
) = M12x1.25 ) o PED
) I I JE I D S | L 2 ~ g ﬂ PonY N B olwn
© W ™|
: - B\ €
T E—" N R @1 O SHFHolBenl
1275 M4x0.7 Depth 5 9.5 ‘ ‘
95 °p! : 56.4 17
Width
—— (For securing cable) 10| 24 #Iatl parta)oross AM5X0E De:p}h 10 30 %\g\/t\)d&h across
* Contents of option: Plate, 2 pcs., Nut, 8 pcs. (10) 355 (90°-equal division) 55
See our robot manuals for additional settings. o
oﬁ'Pf— Effective stroke| 50 | 100 | 150 | 200 | 250 | 300
L1 183 | 233 | 283 | 333 | 383 | 433
3@5 S L 227.5|277.5|327.5|377.5| 427.5 | 477.5
N Weight (kg) “°7| 2.4 | 28 | 32 | 35 | 39 | 43
oN

g (Hex. socket head cap bolt (M4x0.7),
grﬁll?t-l?rough ‘—‘2(1)0 Length under head 12)
- our bolts are required for one plate.
* Four bol ired f |
)

TS-S2 » 514 TS-SH » 514 [ TS-SD » 524

Installed within the T-slot range of the main unit.

Hex. socket head cap bolt (M5x0.8),
Length under head 14

Note 1.1t is possible to apply only the axial load.

Use the external guide together so that any radial load is not applied to the rod.
Note 2. The orientation of the width across flat part is undefined to the base surface.
Note 3.Use the support guide together to maintain the straightness.

Note 4.When running the cables, secure cables so that any load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the
cables. (Effective screw thread depth 5)

Note 6. The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Bl

Note 9.For lead 2mm specifications, the origin on the non-motor side cannot be set.
Note 10.This unit can be installed with the motor facing up (turned 90 degrees from the
position in this drawing).

Note 11.Take great care as the outer case of the motor and cover belt projects from the
bottom of the main unit.
Note 12.When the lead is 2 mm, this dimension is 27 mm.

171




=
-~
>
Z
w
=
=z
[©)

=8
=
=L
B
P
)
x
@
3
&
o
@

172

8 Orderin:

SRDO5-

12: 12mm S: Straight model
06: 6mm |

Note 1. See P.153 for grea:

Note 2. When “2mm lead” is selected, the origin position

Model

U: Space-saving model Note t

Brake Bl Origin position "2 B Bracket plate fod Bl Cable length Mot
N: With no brake| |N: Standard ™3 | |N:Noplate | (50 to 300 1K: 1m
h plate (50mm pitch) 3K: 3m

—
.
\‘ ‘.\
‘e
ARy
1S2: TS-S2 Note5 INP: NPN

(motor installed on top)

se gun nozzles.

cannot be changed (to non-motor side).

Note 3. If changing from the origin position at the time of
purchase, the machine reference amount must be

reset. For details, refer to the manual.

M Basic specifications M Speed vs. payload |

PN: PNP
|B: With brake |Z: Non-motor side| |H: Wit ICC: CC-Link
5K: 5m DN: DeviceNet™
10K: 10m [EP: EtherNet/IP™
PT: PROFINET
Note 4. The robot cable is flexible and resists bending. GW: No I/O board®
Note 5. See P.522 for DIN rail mounting bracket.
Note 6. Select this selection when using the gateway B SH | H |
function. For details, see P.66.
Robot positioner 110 —
[SH: TS-SH INP: NPN IB: With battery
IPN: PNP (Absolute)
ICC: CC-Link N: None
M Speed vs. payload DN-DevicoNeT | (Incrementa)

Motor 56 [] Step motor g? Eg]gg;ﬁg!: -
Resolution (Pulse/rotation) 20480 70 Load 2 GW: No 1/0 board"e®
— N 60
Repeatability (mm) +/-0.02 _ \ Lead 6 L SD 1
Deceleration mechanism Ball screw ¢12 ER N
Ball screw lead (mm) 12 6 2 40 \Lead 12— 1/0 cable
. Note 1 \ 30 [SD: TS-SD 1: 1m
M; speed "' (mm/sec) | 300 150 50 N
Maximum Horizontal| 50 55 60 o | B Running life
payload (kg) Vertical| 85 | 185 28.5 |
Max. pressing force (N) 250 550 900 0 5000 km on models other than shown below.

-P 9 - 0 50 100 150 200 250 300 350 Running life of only the model shown below becomes shorter than 5000 km
Stroke (mm) 50 to 300 (50pitch) Varical Speed (mm/s) depending on the payload, so check the running life curve.
Lost motion 0.1mm or less E 6000

Vertical
Rotating backlash (°) +-0.05 %0 < 5000
Overall length | Horizontal Stroke+276 . % Lead2 :—‘; gggg N
(mm) Vertical Stroke+316 220 £ 2000
Maximum outside dimension g 15 Lead 6 S 1000
2 W56.4 x H71 o ©
of body cross-section (mm) 5. 10 \c 0 ST

Cable length (m)

Standard: 1/ Option: 3, 5, 10

Note 1. The maximum speed needs to be changed in
accordance with the payload.

See the “Speed vs. payload” graph shown on the right.

For details, see P. 152.

5 i Ny
0

\\Lead 12 —

20 25 30
Payload (kg)

Note. See P.153 for running life distance to life time conversion example.

0 50 100 150 200 250 300 350
Speed (mm/s)

Controller | Operation method

Controller | Operation method

TS-S2 1/0 point trace / TS-SD Pulse train control
TS-SH Remote command
SRDO5 Straight model @
Effective stroke+107
—Tou |
See Note 5. ? %J "eE ’’’’’ —  TH T
w
o B o
_ wn
- = -+ — 00— . — —|
-— | | o
w
Ball screw
greasing port E SME
-M6x1.0
(06:5) Depth 15
78 - (For user tool
Approx. 250 (Cable length) - installation)
‘ 147
4-M6x1.0
[T — M4x0.7 Depth 5 105 24 40 40 40 drillthrough
(For securing cable) (For main unit
AL /] =~ | (@) e
1 14 [l E 3
~ | | — o M © ©
x N’ﬁ’jfifii ) o — — "7 ’’’’’ +’*’*’ I @777@ 77@ =
. @0 4% 8{ L k | & &
Sg 3 = = N (/57 Iy )]
- | 8 5 '
9 5‘ o2 L1(T-slot range) Origin on EN)ote 3) T-slot for M4, 30
L motor side (4 locations) 130
L+40 (with brake) 45.5+/-2 |Effective stroke | 157 |
Option: Horizontal installation plate (foot) Origin on non-mor side (Note 2) .5 M4x0.7 Depth 5

* Contents of option: Plate, 2 pcs., Nut, 8 pcs.
See our robot manuals for additional settings.

—r

(i

-1 oo
EMGLW

o)
2 oTo "o |
o A
80

Installed within the T-slot range of the main unit.
Hex. socket head cap bolt (M4x0.7), Length under head 12

* Four bolts are required for one plate.

[/ (For securing cable)
M4x0.7 73 g «#/ @

5 7 -
= 0 g
Dimensions of attached - m
square nut for T-slot (6 pcs.)  etails of T-slot (2:1) Ve
lew

Effective stroke

50 | 100 | 150 | 200 | 250

L1

183 | 233 | 283 | 333 | 383

L

280.5|330.5|380.5|430.5|480.5

Weight (kg) “*°®

3.1 36 | 41 | 45 | 5.0

Note 1.1t is possible to apply only the axial load.
Use the external guide together so that any radial load is not applied to the rod.

Note 2.For lead 2mm specifications, the origin on the non-motor side cannot be set.

Note 3.When the lead is 2mm, this dimension is 27mm.

Note 4.When running the cables, secure cables so that any load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use them to secure the cables.
(Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.

Note 7. Take great care as the outer case of the motor projects from the bottom of the main
unit.

Note 8.Models with a brake will be 0.2kg heavier.

Note 9.Distance to mechanical stopper.

TS-S2 » 514 [ TS-SH » 514 [ TS-SD » 524 |




SRD05 Space-saving model (motor installed on top)

Approx. 245 (Cable length) L 45542 Effective stroke  (5(Note 8,Note 11))
(7(Note 8)) Originon | | Origin on
= motor side | | non-motor side (Note 9)
A — — ==
M4x0.7 Depth 5 3 [ ——F —-—-
(For securing cable) o
.5 e o
2 HI — ©
o i |
HT ] o~
o
= =
S F——F
View A © — |
I L
N =
. 47 105 24 70.9
146 (with brake .
( ! Effective stroke +107 56.4 8-M6x1.0
‘ 106 Depth 15
| I — (For user tool
| & © o installation)
} ,,,,,, B4 5| [ 4-M6x1.0
Ca . drill-through
! | Ballscrew greasing © ) (For maingunit
) ‘ b - port (¢6.5) o installation)
1 ~
o i 1 [C—e) Eg)‘)
V7 | 7 5 N | ;) — @ | ——- | ) @& olg| 1wl
‘ s P - & %w & F| < 10|
" S ! K 2 ° < H@ © ©
g | g [ L] S| o ] ®
T T e~
56.5 See Note 5. 8 T-slot for M4 330 S
] (4 locations) §
40 40 40 <
* Contents of option: Plate, 2 pcs., Nut, 8 pcs. ~ M4x0.7 Depth 5 95 32 130
See our robot manuals for additional settings. ~ (For securing cable) 2. M4x0.7 ~ 147
222

(275) 95

zb Installed within the T-slot range of the main unit.
2-06.6 (Hex. socket head cap bolt (M4x0.7),
drill-through FO_ Length under head 12)
)

* Four bolts are required for one plate.

Dimensions of attached

square nut for T-slot (6 pcs.) Detail of section B
Effective stroke| 50 100 | 150 | 200 | 250 | 300
L1 183 | 233 | 283 | 333 | 383 | 433
L 227.5|277.5|327.5|377.5|427.5| 4775
Weight (kg) “°’| 3.3 | 38 | 43 | 47 | 52 | 57

Note 1.1t is possible to apply only the axial load.

Use the external guide together so that any radial load

is not applied to the rod.
Note 2.The orientation of the width across flat part is
undefined to the base surface.

Note 3.Use the support guide together to maintain the straightness.
Note 4.When running the cables, secure cables so that any

load is not applied to them.

Note 5.Remove the M4 hex. socket head cap set bolts and use
them to secure the cables. (Effective screw thread depth 5)

Note 6.The cable’s minimum bend radius is R30.

Note 7. Models with a brake will be 0.2kg heavier.

Note 8.Distance to mechanical stopper.

Note 9.For lead 2mm specifications, the origin on the non-

motor side cannot be set.

Note 10.Take great care as the outer case of the cover belt
projects from the bottom of the main unit.

Note 11. When the lead is 2 mm, this dimension is 27 mm.

TS-S2 » 514 TS-SH » 514 [ TS-SD » 524

173





